Virginia High School League District Competition, 2000-01 season

Match #14


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
The classical Greek sculptor Myron is best known for what statue of a man throwing a discus?

ANSWER: DISCOBOLUS (Accept “The Discus Thrower” before the word discus is said)

2.
This war was fought between 1701 and 1713 between Louis XIV of France, supported by Spain and the ‘Grand Alliance’ of Britain, Holland and the Holy Roman Emperor. It began after the death of the last Hapsburg king of Spain, and was ended by the treaty of Utrecht. What is this war, so named due to the fact that it was fought over rival claims to the Spanish throne?

ANSWER: War of the SPANISH SUCCESSION
3.
These brothers produced an extensive work on the grammar of the Germanic languages, the Deutsche (DOY-chuh) Grammatik. Jacob and Wilhelm are what 19th-century German brothers probably better known for another joint work, Children’s and Household Tales, one of the best-known collections of folk and fairy tales?

ANSWER: GRIMM
First period (continued)

4.
THIS IS A COMPUTATION QUESTION. A football coach goes 3-7, 2-8, 5-5 and 7-3 in his first four seasons on the job. Assuming in his fifth season, his team plays ten games, how many games must his team win for him to achieve a .500 record as a coach?

ANSWER: 8
5.
What is the name given to a specialized protein molecule produced by a cell that acts as a catalyst for a biochemical reaction, which includes examples such as amylase and lipase?

ANSWER: ENZYME
6.
His novels Midnight’s Children and Shame were well-received, but his 1988 novel earned him a fatwa, a death decree, from the Ayatollah Khomeini. Who is this author of The Satanic Verses?

ANSWER: Salman RUSHDIE
7.
THIS IS A COMPUTATION QUESTION. What is the midpoint of the line segment between (7,5) and (-5, 3)?

ANSWER: (1, 4)
8.
What type of rock is also called ‘volcanic glass’ due to its smooth, glassy appearance?

ANSWER: OBSIDIAN
9.
This religious sect rented a public concert venue in the Hong Kong City Hall on January 14 to hold an international conference. What is this religious sect, which although legal in Hong Kong, is illegal in Mainland China and has been persecuted vigorously by Chinese authorities?

ANSWER: FALUN GONG
10.
The articles that this 1765 law affected included dice, playing cards, insurance policies, licenses, legal documents, almanacs and newspapers. What is this law, that required a tax be paid on all those items and then sparked immediate protests in the American colonies, including the founding of the Sons of Liberty?

ANSWER: STAMP ACT

First period (continued)

11.
What name is given to the part of the gastro-intestinal tract between the sigmoid colon and the anal canal?

ANSWER: RECTUM
12.
He fled Troy after the Trojan Wars were lost, and eventually ended up in Carthage, where he fell in love with Dido, queen of that city. Who is this man that left Dido, and then landed in Italy, eventually founding the city of Rome, the main character of Virgil’s best-known work? 

ANSWER: AENEAS 

13.
Eventually dying of alcoholism in 1957, his power gradually declined after his December 1954 censure him for abuse of other Senators and failure to explain a financial transaction. Who is this Wisconsin Republican senator who accused, among others, Adlai Stevenson and George C. Marshall, of being Communists?

ANSWER: Joseph McCARTHY
14.
Harvey Cheyne, a spoiled scion of a wealthy family, falls overboard from his ocean liner, but is rescued by the We’re Here, a fishing vessel that refuses to take Harvey back home, but instead makes him a part of the crew. What is this maritime novel by Rudyard Kipling?

ANSWER: CAPTAINS COURAGEOUS
15.
THIS IS A COMPUTATION QUESTION. A yard is 30 feet by 40 feet requires a fence around its border and a fence along its diagonal. How much fencing is required?

ANSWER: 190 feet of fencing

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What is the term in socialist and radical philosophy to describe the people who do not own property and live by their labor?

ANSWER: PROLETARIAT
1B.
What Greek letter, the eighth in the Greek alphabet, is usually used to represent the measure of an angle?

ANSWER: THETA
2A.
In the Gospel of John, Jesus’ greatest miracle was raising what man from the dead? 

ANWER: LAZARUS
2B.
What form of sentence has two simple sentences joined with a conjunction?

ANSWER: COUMPOUND
3A.
THIS IS A COMPUTATION QUESTION. What is the sum of the positive integers from 1 to 20?

ANSWER: 210 (1+20 = 21 … multiply by 10 for 2,19; 3,18; etc.)

3B.
Radio waves bounce off of what layer of the atmosphere to enable the reception of AM waves thousands of miles away?

ANSWER: IONOSPHERE
4A.
Who is the woman that wrote the poetry collection, Sonnets from the Portuguese?

ANSWER: Elizabeth BARRETT BROWNING (prompt on Browning)

4B.
Who was the last President of the Soviet Union?

ANSWER: Mikhail GORBACHEV 

5A.
What is the chemical formula of laughing gas?

ANSWER: N2O (accept dinitrogen oxide)

Second period (continued)

5B.
Le Villi, Edgar, Tosca, Madama Butterfly and La Boheme (BOH-emm) are all operas by what 19th century Italian composer?

ANSWER: Giacomo PUCCINI
6A.
What small country in southern Africa is named for the lake which forms its entire eastern border? 

ANSWER: MALAWI 

6B.
THIS IS A COMPUTATION QUESTION. What is the equation of a line in the for Ax + By = C, where A is positive, of the line parallel to y = 4x + 3 that passes through the point (2,1)?

ANSWER: 4X – Y = 7
7A.
Anna Christina, Winter, 1946, Christina’s Teapot and Christina’s World are all works by what 20th century American artist?

ANSWER: Andrew WYETH
7B.
Who wrote the novel Look Homeward, Angel?

ANSWER: Thomas WOLFE (grudgingly accept Tom Wolfe)

8A.
THIS IS A COMPUTATION QUESTION. An arc has a length of 8 PI, and is one-sixth of a circle. What would the diameter of the entire circle be?

ANSWER: 48 (each arc of 8 PI is one-sixth of the entire circle, 48 PI.)

8B.
What is the name given to substances which are capable of retarding or even stopping a chemical reaction?

ANSWER: INHIBITOR
9A.
Who is the American poet that wrote “The New Colossus”, the poem that is inscribed on the tablet held by the Statue of Liberty?

ANSWER: Emma LAZARUS
Second period (continued)

9B.
Who was the third member of the First Triumvirate along with Julius Caesar and Crassus?

ANSWER: Gnaeus POMPEIUS or POMPEY
10A.
What name was given to the Soviet equivalent of the Apollo program?

ANSWER: LUNA
10B.
Who is the author of the oft-heard entry music at high school commencement ceremonies, ‘Pomp And Circumstance?’

ANSWER: Sir Edward ELGAR
Third period: 15 toss-ups

1.
Four non-coplanar points form what thing which is defined as the set of all points?

ANSWER: SPACE
2.
How many carbon atoms are in a benzene ring?

ANSWER: SIX
3.
According to Freud, the conflict within a person was between the ego, superego and what most primitive aspect of the personality?

ANSWER: ID
4.
Who created of the detective couple Nick and Nora Charles and the famous detective Sam Spade, who starred in the novel and movie The Maltese Falcon?

ANSWER: Dashiell HAMMETT 

5.
In a 5-to-4 ruling in June, the Supreme Court viewed that this organization was within its rights of “expressive association” when it expelled an adult leader who violated its code of clean moral conduct. Several state and local governments have stopped funding or supporting what group over its refusal to admit homosexuals among its leaders?

ANSWER: BOY SCOUTS of America (accept BSA)

6.
What parallel was the original northern boundary of the Oregon territory, which prompted the cry of several expansionists, “(BLANK) or fight!”

ANSWER: FIFTY-FOUR degrees, FORTY minutes 

7.
What is the name given to the method of strangling or breaking someone’s neck with an iron collar screwed tight, used traditionally by Mafia families as a method of execution?

ANSWER: GARROTT(e)

Third period (continued)

8.
Leslie Bibb and Carly Pope play two girls who despise each other but are forced into step-sisterhood when their parents get married. This is the backdrop for what WB television series? 

ANSWER: POPULAR  

9.
The subject of the test, a computer, can give responses so that the tester cannot determine whether the subject of the test is computer or human. The computer has just passed what famous test of artificial intelligence, named for a World War II-era computer scientist who committed suicide after his homosexuality was exposed? 

ANSWER: TURING test   10.
He left his homeland in 1938 due to concerns about the Fascist regime. He accepted a position teaching at Columbia University, but soon was placed in charge of a project at the University of Chicago, where on December 2, 1942, a working nuclear reactor was created for the first time. Who is this Italian-American physicist?

ANSWER: Enrico FERMI

11.
The Pearl of Great Price and the Doctrines and Covenants are two of the Scriptural works for what modern religion? 

ANSWER: MORMON or Church of Jesus Christ of LATTER-DAY SAINTS 

12.
THIS IS A COMPUTATION QUESTION. The stars of Friends make $1 million per episode. Assuming there are 22 episodes in a given season, that there are six stars in the series, and that guest stars cost $500,000 per episode, how much is the cast budget for Friends over the course of a season?

ANSWER: $143 MILLION ($11 million for guest stars, $22M * 6 for the stars)

13.
What class of organic compounds has two R-groups joined together with a single oxygen atom?

ANSWER: ETHERs

14.
What Ottoman sultan was given the nicknames “The Lawgiver” and “The Magnificent?”

ANSWER: SULEYMAN

Third period (continued)

15.
This word was coined from two Greek words meaning “nowhere”. What is this word, first coined by Sir Thomas More in a book of the same name that describes an ideal country or location?

ANSWER: UTOPIA 

Spares

THIS IS A COMPUTATION QUESTION. Cable costs $10 per 50 yards. The crew to lay the cable can lay 500 yards in an hour and costs $300 per hour. How much would it cost, between the cable and the crew, to lay 1500 yards of cable?

ANSWER: $1,200 ($300 for the cable $900 for the crew.) 

He refused to come out for the third round, actually walking out of the ring at the Palace of Auburn Hills on October 21 before the third round of his fight with Mike Tyson. Who is this fighter, best known for punching Riddick Bowe below the belt? 

ANSWER: Andrew GOLOTA 

I Know Why the Caged Bird Sings was the first autobiographical work from what contemporary American poet?

ANSWER: Maya ANGELOU
What policy, proposed in 1899 by US Secretary of State John Hay, attempted to regulate the dealings of the major powers in China and allow the United States to trade with all parts of China?

ANSWER: OPEN DOOR policy

What kingdom consists of single-celled protozoa and algae and fungi that have flagellated spores?

ANSWER: PROTISTA
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